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. FHEGHEAEE (X, y) #5484 polar coordinates (r, ) Z Jacobian 44 »
BRALBTER - HBHKX T x=rcosd, y=rsing [#45:154%]
2. RBHRAEE KE X1, X, X3 24 [3+5 1 15 2]
2 6 1| x 7
1 2 =11|x|=|-1
5 7 -4 ||x 9
3.aTaENE (#4120 4]

%=—4x+2y @=——5-x+2y
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5. RRE T ALERZ K (rank) : [3H5 1 15 4]

1 -2 3 -1 -1 =2
2 -1 1 0 -2 =2
A=|-2 -5 -8 -4 3 -1
6 0 -1 2 -7 -5
-1 -1 1 -1 2 1

6. & F Bty FRGubfleld) TARFEFP#Ha# - RA2 TS
T(x;, Xp, X3)=(x3—Xp +2%x3, 2% + Xy, — X — 2% +2x3)
(1) 33 © T A&t %34 (linear transformation)  [# 4 1 6 %]
@) % b, VB F—0E KM a,b,c BATHEEHET » (a, b, ) B? TSR
(range)? [# 4% 5 41 X > T##k(@ank) B 477 [ 12 4]
(3) ®PM a, b, c FTHEEHT > (0, b, ) BH Tt % % M(null space)?[3t 515 4]
X o T #y F 838 > Nullity(D)A41? [3% 12 2]
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